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Economic and social issues Question 

Bank with Answer Key for NABARD 

Grade A 

Q.1 The total sum of the goods and services produced in a country in a year, minus

depreciation is called as –

A. Gross domestic product

B. Gross national Product

C. Gross national income

D. Net domestic product

E. Net national Product

Q.2 Under the NITI Aayog 15-years vision plan, three years ‘Action agenda’ is created to

boost economic growth. The duration of three-year action plan is –

A. 2017-18 t0 2019-20

B. 2018-19 to 2020-21

C. 2016-17 to 2018-19

D. 2019-20 to 2021-22

E. None of these

Q.3 What is India’s rank in human development index 2016?

A. 122nd

B. 130th

C. 132nd

D. 131st

E. 121st
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Q.4 Under union Budget 2017-18, ‘Income tax’ on annual income of 2.5 lakh to 5 lakh

has been reduced from 10 percent to –

A. 8%

B. 7%

C. 7.5%

D. 6%

E. 5%

Q.5 Second nationalization of commercial banks in India took place in?

A. 1930

B. 1948

C. 1950

D. 1970

E. 1980

Q.6 Asian development bank projected India’s economic growth rate for 2017-18 –

A. 7.4%

B. 7.7%

C. 7.2%

D. 7.8%

E. 7.6%

Q.7 World economic outlook is released by –

A. WEF

B. World Bank

C. IBRD

D. IMF

E. IFSC
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Q.8 The 1967 Industrial licensing policy inquiry committee was set up under

chairmanship of? 

A. K.C. Dasgupta 

B. Dr. R.K. Hazari

C. Mr. Subimal Dutt

D. R. Narsimhan

E. TSR Subramaniam

Q.9 The policy to deal with the taxation and expenditure decision of government is –

A. Investment policy

B. Monetary policy

C. Tax policy

D. Fiscal policy

E. None of these

Q.10 The formation of NAA to ensure that the benefits that accrue to entities due to

reduction in costs passed by on to customers. What is the full form of NAA? 

A. New anti-profiteering association

B. New anti-profiteering authority

C. National anti-profiteering association

D. National anti-profiteering authority

E. Other than given options

Q. 11 What is India’s rank on the 2017 World happiness index?

A. 131st

B. 132nd

C. 122nd

D. 121st

E. 130th
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Q.12 IFM is established to solve the problems related to EU investment in India what is

the full form of IFM? 

A. International fund management

B. Investment fund management

C. Investors fund management

D. Investment facilitation mechanism

E. Indian fund management

Q.13 Which country has ratified automatic exchange of financial account information

with India and 40 other countries? 

A. United states of America

B. Singapore

C. Europe

D. Britain

E. Switzerland

Q.14 Recently, Maternity amendment bill 2016 is passed by Parliament. Under this the

maternity benefits raised form 12 weeks to –

A. 20 weeks

B. 18 weeks

C. 22 weeks

D. 24 weeks

E. 26 weeks

Q.15 An increase in aggregate demand over the available output leads to a rise in the

price level. This kind of inflation is known as –

A. Cost-push inflation

B. Demand pull inflation

C. Credit inflation
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D. Walking Inflation

E. Galloping inflation

Q.16 Rejuvenation, Modernization and Technology Upgradation has been renamed as –

A. Coir industry upgradation

B. Coir udyami yojana

C. Coir vikas yojana

D. Coir upradation scheme

E. None of these

Q.17 the platform aimed at addressing common man’ grievances and simultaneously

monitoring and reviewing important programmes. 

A. EVIN

B. UIP

C. PRAGATI

D. SWAYAM

E. NRTP

Q.18 World Thalassemia day is celebrated on –

A. May 8

B. May 4

C. May 10

D. May 16

Q.19 Under the housing scheme the EPFO allowed its subscriber to withdraw how much

percentage of its EPF accumulations to buy homes? 

A. Upto 69%

B. Upto 75%

C. Upto 82%
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D. Upto 90%

E. Upto 79%

Q.20 Inflation in the double or triple digit range of 20, 100 or 200 p.c. a year is termed

as - 

A. Walking inflation

B. Creeping inflation

C. Galloping inflation

D. Credit inflation

E. Mild inflation

Q.21 Who headed the committee setup to recommend ways to deal with employment

data discrepancies and its reliable solutions –

A. Arvind Mayaram

B. R, Ranarajan

C. Shekar Basu

D. Arvind panagariya

E. Ashok Lavasa

Q. 22 Central statistics office has changed the base year of Index of Industrial

production(IIP) from 2004-05 to –

A. 2010-11

B. 2009-10

C. 2012-14

D. 2015-16

E. 2011-12

Q.23 Which of the following about SEZ is incorrect?
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A. It is a duty free enclave to be treated as foreign territory for the trade operations

and duties and tarrifs. 

B. No manufacturing activities are allowed in SEZ.

C. It does not require license for imports

D. For SEZ developers there is Zero tax and duty on raw material.

E. All are correct.

Q.24 What is the budget allocation for recapitalization of bank in lines with the

Indhradhanush roadmap? 

A. 5,000 crores

B. 10,000 crores

C. 15,000 crores

D. 20,000 crores

E. 25,000 crores

Q.25 It is a manned service delivery point which is open for at least four hours a day and

at least five days a week. 

A. Samadhan kendra

B. Banking ombudsman

C. Seva kendra

D. Nirakaran kendra

E. Banking outlet

Q.26 It is an international financial institution that provides loan to the countries of the

world for capital programs –

A. World bank

B. International monetary fund

C. World economic forum

D. Bank for International settlement
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E. European central bank

Q.27 What is the title of India economy survey 2017 released by OECD –

A. Strong reforms and boosting inclusive growth

B. Women and developing country

C. Empowering India, educating India

D. Inclusive growth, Employment and education

E. Empowering India – Inclusive growth, women empowerment

Q.28 According to Swachh Survekshan 2017, which city is declared as cleanest city in

India? 

A. Vishakhapatnam

B. Bhopal

C. Idduki

D. Indore

E. Surat

Q.29 During Inflation who gains and profited?

A. Lenders

B. Borrowers

C. Bond holders

D. Salaried peoples

E. None of these

Q.30 What is the theme for Technotex 2017?

A. Textile – future growth sector

B. Technical Textiles: Towards future

C. Technology and textiles

D. Textile growth with technology
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E. Future of textile with technology

Q.31 Business reform action plan 2017 is released by DIPP with –

A. World economic forum

B. RBI

C. CCEA

D. World Bank

E. European Union

Q.32 The third edition of G20 Framework Working Group (FWG) meeting was held in

A. Hyderabad

B. Varanasi

C. New Delhi

D. Gujarat

E. Pune

Q.33 Wholesale price Index is released by –

A. Central statistics office

B. Office of economic advisor, Department of Industrial policy and promotion

C. Reserve bank of India

D. Chief Economic advisor

E. Government of India

Q.34 ‘Mission 41k’ is related to –

A. Railways

B. Electricity

C. Education

D. Banking

E. Mining
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Q.35 It is a digital payment platform for merchants to receive digital payments from

customers over the counter through Aadhar authentication. 

1. BHIM

2. E-Pay

3. E-aadhar

4. Aadhar Pay

5. E- merchant

Q.36 In Union Budget 2017-18 , Personal income tax for people with income in the slab

of2.5 lakh to 5 lakh to be reduced to how much per cent instead of 10 per cent? 

A. 5%

B. 4.5%

C. 7.5%

D. 6%

E. 5.75%

Q.37 In Budget estimates of 2017-18 the fiscal deficit stands at __ of GDP

A. 4%

B. 3%

C. 3.5%

D. 3.2%

E. 4.5%

Q.38 According to WTO provisions India has to stop the payment of subsidy to

exporters by –

A. 2017

B. 2018

C. 2019

D. 2020
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E. 2021

Q.39 What is real income?

A. The net part of wage one is free to use which is derived after deducting the direct

taxes 

B. The wage someone gets in hand per day or per month.

C. The net part of wage one is free to use which is derived after deducting the

indirect taxes 

D. The wage someone gets in hand per day or per month minus the present-day rate

of inflation - adjusted in percentage form 

E. None of these

Q.40 A comprehensive plan launched by government for recapitalization of public

sector lenders with a view to make sure they remain solvent and fully comply with the 

global capital adequacy norms, Basel-III.  

A. Industrial revolution 4.0

B. Industrial revolution 3.0

C. Indradhanush 2.0

D. Indradhanush 3.0

E. None of these

Q.41 Public enterprises survey 2015-16 is released by –

A. CSO

B. RBI

C. DIPP

D. Department of Public enterprises

E. Union government

Q.42 NCCT is recently in news, What does ‘T’ stands for in NCCT?
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A. Task

B. Territories

C. Term

D. Trade

E. Tourism

Q.43 Which five-year plan is also known as Liberalization of Economy?

A. 5th FYP

B. 9th FYP

C. 10th FYP

D. 8th FYP

E. 7th FYP

Q.44 RBI reconstituted an oversight 5 five-member panel for bad loan solutions who

headed the committee? 

A. Pradeep Kumar

B. Prabhas Kumar jha

C. Uday kotak

D. Arvind mayaram

E. Kewal Kumar sharma

Q.45 Twenty-point Programme was launched in

A. 1960

B. 1975

C. 1970

D. 1980

E. 1982

Q.46 The term Seignorage is related to –
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A. Insurance

B. Recession

C. Inflation

D. Internet Banking

E. None of these

Q.47 In union budget 2017-18 the specific relaxation with respect to holding period for

treating it as long term asset has been given to –

A. Debt funds

B. Real estates

C. Gold exchange funds

D. Unlisted equities

E. None of these

Q.48 Nirvan fund was set up to help –

A. Youths of Nomadic tribe

B. Displaced Kashimiri Pandits

C. Old age people having no means of livelihood

D. Ventures of selected candidates trained under PMKVY but don’t get any job

E. None of these

Q.49 NITI Aayog has recommended ‘Price deficiency system’ in three year action plan.

The system is a –

A. Measure to boost food processing industries

B. Measure to boost banking industry

C. Measure to boost handicraft industry

D. Measure to boost export subsidies

E. Reform to minimum support price system in agricultural marketing.

Q.50 Recession is defined as –
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A. a downturn in the aggregate demand on overall fall in the demand

B. general fall in demand as economic activities takes a downturn, Industries resort

to ‘price cuts’ to sustain their business

C. the economy heats up and a demand supply lag is visible

D. demand goes upward, inflation also moves upward making borrowing

cheaper for investors 

E. All of these

Q.51 In an economy, if the share of its primary sector is 50% or more in the total output

of the economy it is called as –

A. Industrial economy

B. Service economy

C. Agrarian economy

D. Command economy

E. Mixed economy

Q.52  A tax-exempt bond issued by federally qualified organizations or by municipalities

for the development of brownfield sites is termed as –

A. Masala Bond

B. Climate Bond

C. Green Bond

D. Social Impact Bond

E. None of these

Q.53 In PMMY, loan range for Tarun category is –

A. Loan up to Rs 50,000

B. Rs 50,000 to 5 lakhs

C. Rs 50,000 to 15 lakhs

D. Rs 5 lakh to Rs 10 lakh.
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E. Rs 5 lakh to Rs 20 lakh.

Q.54 What is India’s place in crude steel production?

A. First

B. Second

C. Third

D. Fourth

E. Fifth

Q.55 The purest form of the income of the Nation is –

A. Net National income

B. Gross National Income

C. Gross National Product

D. Net National product

E. None of these

Q.56 Who headed the committee set up by RBI to suggest the measures to tackle the

cyber security challenges? 

A. Meena Hemchandra

B. S S Mundra

C. Kewal Kumar Sharma

D. Nandita Chatterjee

E. Amar Sinha

Q.57 Recently AQR is in news, what is R in AQR?

A. Restructure

B. Ratio

C. Review

D. Retailed
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E. Research

Q.58 The new revised Indian Standard on Gold hallmarking, gold jewellery will be

available in three grades and these are –

A. 14, 18 and 22

B. 11, 15 and 21

C. 12, 15 and 22

D. 12, 15 and 24

E. 14, 18 and 24

Q.59 E-NIKSHAY platform is related to –

A. Crime record portal

B. Banking complaints

C. Platform for TB patient database

D. Tax portal

E. GST

Q.60 Under new National steel policy 2017, the domestic steel production capacity will

be doubled by the year –

A. 2019-20

B. 2021-22

C. 2025-26

D. 2029-30

E. 2030-31

Q.61 According to the 2nd advance estimates of production of major crops for 2016-17,

the total food grain production is estimated at –

A. 108.99 million tonnes

B. 271.98 million tonnes
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C. 309.98 million tonnes

D. 439.86 million tonnes

E. 108.86 million tonnes

Q.62 Global economic prospect report is published by –

A. World bank

B. IMF

C. World Economic forum

D. United Nation

E. UNESCO

Q.63 The independent Banking industry watchdog that protects consumers of banking

services in India. 

A. RBI

B. FMC

C. BCSBI

D. BSBDA

E. Banking Ombudsman

Q.64 Committee on 7th CPC recommendation on allowances headed by –

A. AP shah

B. ESL Narsimhan

C. Shaktikanta Das

D. Arvind Panagariya

E. Ashok Lavasa

Q.65 What is Net National Product?

A. It is calculated after adjusting the weight of the value of ‘depreciation’.

B. It is calculated as the GDP of a country added with its ‘income from abroad’.
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C. The GNP after deducting the loss due to ‘depreciation.

D. The GDP of a country after deducion its ‘income from abroad’.

E. None of these

Q.66 The Surcharge to be levied on individuals with income between Rs. 50 lakh to Rs. 1

crore is –

A. 5%

B. 10%

C. 12%

D. 15%

E. 11%

Q.67 Which of the following is not correct-

A. Domestic production is the production activity irrespective of whether performed

by citizens of India or not. 

B. National income is defined as Net National product at factor cost.

C. National product includes the production activities of resident with respect of

where it is performed within the economic territory or outside of it. 

D. According to expenditure method, national income is obtained by adding all the

expenditure made on goods and services during a year. 

E. All are correct

Q.68 Who headed the committee which recommended to avail Public distribution

benefits to the migrants in country? 

A. Sanjay Mitra

B. Partha Mukhopadhyay

C. Subir gokaran

D. H R Khan

E. A K Shah
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Q.69 According to economic survey 2016-17, The current account deficit has declined to

reach about what percent of GDP in the first half of 2016-17? 

A. 1%

B. 0.3%

C. 1.2%

D. 0.9%

E. 0.7%

Q.70 ‘India vision 2020’ is prepared by –

A. Arvind Panagriya

B. M. Subramaniam

C. A.P. Shah

D. S.P. Gupta

E. RBI

Q.71 measure of the total inflation within an economy, including commodities such as

food and energy prices (e.g., oil and gas) is –

A. Core inflation

B. Underlying inflation

C. Headline inflation

D. Skewflation

E. Stagflation

Q.72 First masala bond is issued by -

A. IFC

B. HDFC

C. NHAI

D. ICICI

E. None of these



20 | P a g e

Q.73 Who headed the committee which examined the existing framework related to

virtual currencies? 

A. Suresh Baijal

B. Ashok Lavasa

C. Dinesh Sharma

D. S.Christopher

E. A k Shah

Q.74 What is the India’s rank in Economic Freedom Index 2017?

A. 141st

B. 142th

C. 140th

D. 145th

E. 143rd

Q.75 World economic situation and prospects report is published by –

A. WEF

B. IMF

C. United Nation

D. World Bank

E. IBRD

Q.76 In IIP index, which sector accounts for maximum weightage?

A. Crude oil production

B. Petroleum refinery

C. Steel

D. Fertilizer production

E. Electricity
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Q.77 In terms of % of GDP which of the following deficits is minimum in Budget

estimates of 2017-18? 

A. Fiscal deficit

B. Primary deficit

C. Revenue deficit

D. Effective revenue deficit

E. None of these

Q.78 According to Fitch’s review rating, India’s sovereign rating is –

A. AAA

B. AA

C. BBB-

D. BBB

E. BB

Q.79 Who regulates Asset reconstruction companies?

A. SEBI

B. RBI

C. Ministry of Finance

D. Special committee

E. IBA

Q.80 The situation when taxpayer uses fiscal incentives like tax concession given by

government to lower the tax burden is termed as –

A. Tax advantage

B. Tax avoidance

C. Tax planning

D. Tax mitigation

E. None of these
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Q.81 The audit limit for of business entities opting presumptive scheme to

be increased from Rs. 1 crore to –

A. 1.25 crores

B. 1.5 crores

C. 1.75 crores

D. 2 crores

E. 2.5 crores

Q.82 The first index price number for Wholesale prices commenced in India in the year

–

A. 1950

B. 1952

C. 1947

D. 1942

E. 1949

Q.83 From 16 June 2017 Petrol and diesel prices are being fixed on daily basis matching

with fluctuation in international oil market. Till now the prices were revised on –

A. 1st and 15th of every month

B. 15 of every month

C. Weekly

D. After every 14 days

E. 1st and 16th of every month

Q.84 In union budget 2017-18 , the limit of cash donation to political parties is set to –

A. 5,000

B. 10,000

C. 15,000

D. 2,000



23 | P a g e

E. 20,000

Q.85 What is the full form of UNESCAP?

A. UN Economical and social conference on Asia and Pacific

B. UN Economic standards conference for Asia and Pacific

C. UN Economic and social commission for Asia and Pacific

D. UN Economic sustainability committee on Asia and Pacific

E. UN economical standards commission for Asia and Pacific

Q.86 Inflationary gap is defined as –

A. The shortfall in total spending of the government (i.e., fiscal surplus) over the

national income 

B. This inflation takes place when the supply falls drastically and the demand

remains at the same level 

C. The excess of total government spending above the national income

D. An inflationary situation in an economy which results out of a process of wage

and price interaction 

E. The bonus brought by inflation to the borrowers

Q.87 India’s growth rate projected for 2017-18 in regional economic outlook of IMF –

A. 7%

B. 7.1%

C. 7.5%

D. 7.7%

E. 7.2%

Q.88 which asset is termed as doubtful asset?

A. If sub-standard asset remains so for a period of 12 more months.

B. If standard asset remains so for a period of 12 more months
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C. If loan remains SMA for a period less than or equal to 12 months

D. If loan remains SMA for a period less than or equal to 6 months

E. If loan remains SMA for a period less than or equal to 2 years

Q.89 Which of the following is not correct?

A. Revenue Deficit = Revenue expenses- Revenue receipts

B. Gross fiscal deficit = Total expenditure – (revenue receipts + Non debt creating

capital receipts) 

C. Fiscal Deficit = revenue deficit + Capital expenditure – Non debt creating capital

receipts) 

D. Effective revenue Deficit-= Revenue Deficit – grants for the creation of

capital  assets 

E. All are correct

Q.90 Which committee was set up to recommend GAAR provisions?

A. Parathsarthi Shome Committee

B. Arvind Mayaram committee

C. Kasturirangan Committee

D. Jha committee

E. Rangrajan committee

Q.91 Which state becomes the first state to change its financial year to January –

December? 

A. Assam

B. Jharkhand

C. Madhya Pradesh

D. Gujrat

E. Maharashtra

Q.92 Custom Duty on LNG to be reduced from 5 per cent to __per cent.
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A. 4%

B. 3.5%

C. 2.5%

D. 3%

E. 2.75%

Q.93 What does I’ stands for in STRIVE?

A. Institute

B. Institutional

C. Industrial

D. Internet

E. Indian

Q.94 Philip curve shows relationship between –

A. Indirect tax and inflation

B. Tax and income

C. GDP and per capita income

D. GDP and Employment

E. Inflation and unemployment

Q.95 Which of the following is incorrect about Unicorns?

A. India is home to 20 unicorn companies

B. Flipkart, snapdeal and PAytm are Unicorn companies

C. Unicorns are startups with more than a billion dollar valuation

D. US tops the list with 144 unicorn companies

E. All are correct

Q.96 Which is the first small finance bank in India?

A. Ujjivan finance service pvt limited
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B. Suryodaya Finance pvt limited

C. Au Financiers limited

D. Capital local area bank

E. Catholic finance bank

Q.97 The period of availment of MAT credit to be increased from 10 years to

A. 12 years

B. 18 years

C. 20 years

D. 14 years

E. 15 years

Q.98 Dearness allowance to employees in India is determined on the basis of –

A. WPI

B. CPI

C. WPI-Urban

D. IIP

E. Both WPI and CPI

Q.99 what is India’s rank in Global FDI confidence index?

A. 3rd

B. 5th

C. 7th

D. 9th

E. 8th



27 | P a g e

Q.100 National Bank for Agriculture & Rural Development (NABARD) will make short

term borrowings at prevailing market rate of interest for approx. Rs.20,000 crore for 

on-lending to Cooperative Banks at what rate of interest?

A. 4%

B. 3.5%

C. 6%

D. 4.5%

E. 5%

Q.101 In which year did India initiate privatisation and economic liberalisation?

A. 1991

B. 1995

C. 1987

D. 1990

E. 1985

Q.102 What is the current economic rank of India in terms of GDP?

A. First

B. Tenth

C. Seventh

D. Third

E. Second

Q.103 On what date does India’s financial year begin?

A. 1st May

B. 31st March

C. 1st February

D. 28th February

E. 1st April

Q.104 Who is the current Managing Director of International Monetary Fund?
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A. Dominique Strauss-Kahn

B. Christine Lagarde

C. Jim Yong Kim

D. Robert Zoellick

E. Frederick Musiiwa Makamure Shava

Q.105 ‘Multiculturalism’ refers to the social phenomenon where:

A. Multiple people follow the same culture

B. One person follows multiple culture

C. Multiple people follow various cultures in one society

D. Multiple cultures are used to govern the society

E. None of the above

Q.106 The process where coins or banknotes cease to be legal tenders is called:

A. Demonetisation

B. Economic conservatism

C. Subsidization

D. Monetisation

E. Nationalisation

Q.107 The positive discrimination used to help the historically discriminated and

marginalized groups is known as: 

A. Preventive Action

B. Curative Action

C. Affirmative Action

D. Aided Action

E. Democratisation

Q.108 Free and compulsory education is a fundamental right for children between the

age of: 

A. 10 and 18

B. 6 and 14

C. 6 and 21
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D. 3 and 18

E. 10 and 21

Q.109 Who is the current Governor of Reserve Bank of India:

A. Raghuram Rajan

B. Arun Jaitley

C. Viral Acharya

D. Urjit Patel

E. Nachiket Mor

Q.110 Which is the institution that reviews, monitors and gives direction for

implementation of population policy in India? 

A. National Commission on Population

B. Indian Population Control Agency

C. Family Planning Commission of India

D. National Population Agency

E. Indian Commission of Population Analysis

Q.111 In 2015, BJP Government opened up the insurance sector by allowing what

percent of FDI? 

A. 6%

B. 52%

C. 49%

D. 30%

E. 10%

Q.112 Every election party in India must register itself with:

A. Democratic Institutions of Indian Politics

B. Election Commission of india

C. Electoral Politics Organisation of Indian Republic

D. Electoral Commission of India

E. Political Party Registration Commission

Q.113 The formation of World Trade Organisation was done on:
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A. 1st January 1997

B. 1st December 1996

C. 7th January 1995

D. 1st January 1995

E. 1st March 1995

Q.114 The anti-insurgency militia started by Mahendra Karma to tackle Naxalism in

India was known as: 

A. Salwa Muram

B. Mao Judum

C. Bari Judum

D. Salwa Judum

E. Bari Muram

Q.115 The founder of the social organization called ‘Dalit Panthers’ is:

A. Keshav Baliram Hedgewar

B. Narendra Dabholkar

C. Balasaheb Deoras

D. Ram Vilas Paswan

E. Namdeo Dhasal

Q.116 What term did Mahatma Gandhi use to describe Dalits in India?

A. Bahujan

B. Harijan

C. Swajan

D. Divyang

E. Shrijan

Q.117 What is the literacy rate of India, according to the 2011 Census of India?

A. 74.04%

B. 71.10%

C. 77.11%

D. 69.04%
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E. 72.00%

Q.118 What is the name of the current Chief Minister of Telangana?

A. Nara Chandrababu Naidu

B. Ekkadu Srinivasan Lakshmi Narasimhan

C. Kalvakuntla Chandrashekar Rao

D. Narayan Dutt Tiwari

E. A. P. Jithender Reddy 

Q.119 The Indian system involving Rajya Sabha and Lok Sabha is known as:

A. Bilateralism

B. Dual-power

C. Governmental Distribution

D. Bicameralism

E. Duomeralism

Q.120 The most populous state in India is:

A. Rajasthan

B. Bihar

C. Maharashtra

D. Madhya Pradesh

E. Uttar Pradesh

Q.121 What is a gilt-edged market?

A. Market where only two producers compete

B. Market of government securities

C. Bullion market

D. Market run on Keynesian principles

E. None of these

Q.122 In which year did paper currency first start in India?

A. 1880

B. 1950

C. 1861
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D. 1542

E. 1861

Q.123 Who started the Operation Flood in India?

A. Verghese Kurien

B. William Gande

C. M. S. Swaminathan

D. Norman Borlaug

E. Radha Mohan Singh

Q.124 The emigration of highly trained or qualified people from a particular country is

called: 

A. Meritomigration

B. Relative Deprivation

C. Buffer Theory

D. Brain Drain

E. Qualitative Migration Phenomenon

Q.125 The farming in which the farmers focus on growing enough food to feed

themselves and their families is called: 

A. Organic Farming

B. Industrial Farming

C. Ley Farming

D. Individual Farming

E. Subsistence Agriculture

Q.126 Pradhan Mantri Jan-Dhan Yojana was launched on:

A. 25 August 2014

B. 28 August 2014

C. 15 August 2015

D. 1 August 2016

E. 28 August 2015

Q.127 Who is current Minister of Agriculture in India?
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A. Radha Mohan Singh

B. Narendra Singh Tomar

C. Ram Vilas Paswan

D. Shripad Yasso Naik

E. Manoj Sinha

Q.128 The full form of RRB is:

A. Reserve Rural Bank

B. Regional Reserve Bank

C. Regional Rural Bank

D. Reserve Regional Bank

E. Rescheduled Region’s Bank

Q.129 Which of the following industries was dereserved in 1993?

A. Railways

B. Atopic Minerals

C. Atomic Energy

D. Mining of Copper and Zinc

E. None of the above

Q.130 The term ‘black money’ is primarily used to describe that money which is:

A. Counterfeit

B. Earned from chit funds

C. Earned through underhand deals

D. Not currently in use

E. Income on which tax is evaded

Q.131 The full form of PPP in India is:

A. Purchasing Power Parity

B. Product Purchasing Parity

C. Promotion Per Product

D. Personal Pension Plan

E. Preservation Power Product
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Q.132 Which Act grants special powers to the Indian Armed Forces in "disturbed areas"?

A. Armed Forces Tribunal Act

B. Armed Forces (Special Powers) Act

C. The Disturbed Areas (Special Courts) Act

D. Army Act

E. Special Power for Indian Force Act

Q.133 The national initiative  is run by:

A. Ministry of Women and Child Development

B. Ministry of Human Resource Development

C. Ministry of Health and Family Welfare

D. The first two

E. The first three

Q.134 Maharashtra Prevention and Eradication of Human Sacrifice and other Inhuman,

Evil and Aghori Practices and Black Magic Act, 2013 was originally drafted by: 

A. Kateekal Sankaranarayanan

B. Govind Pansare

C. Sushilkumar Shinde

D. Narendra Dabholkar

E. Avinash Patil

Q.135 According to Index of Economic Freedom, 2016, what is the rank of India on the

list of countries based on economic freedom? 

A. 100th

B. 7th

C. 128th

D. 157th

E. 54th

Q.136 The Supreme Court of India re-criminalized homosexual behavior among other

things in the year: 

A. 2009
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B. 2012

C. 2016

D. 2010

E. 2013

Q.137 The Department of Health belonging to Ministry of Health and Family Welfare

has programmes related to the following problems in the country:

A. Tobacco

B. Leprosy

C. AIDS

D. Iodine Deficiency

E. All of the above

Q.138 The Scheduled Castes and Tribes (Prevention of Atrocities) Act was enacted in the

year:

A. 1965

B. 1997

C. 1982

D. 1989

E. 1977

Q.139 Who introduced the Anti-Discrimination and Equality Bill, 2016?

A. Rajiv Gandhi

B. Shashi Tharoor

C. Irom Sharmila

D. Arvind Kejriwal

E. Sushma Swaraj

Q.140 Approximately what percentage of people are Below Poverty Line in India?

A. 35%

B. 22%

C. 19%

D. 10%
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E. 25%

Q.141 What does the term ‘devaluation’ mean?

A. Increase in the official value of a currency in relation to other currencies

B. Decrease in the availability of currency in an economy

C. Decrease in the official value of a currency in relation to other currencies

D. Cessation of the printing of a previous available currency

E. Decrease in the GDP

Q.142 The inflation rate of 2015 in India was:

A. 3.78%

B. 9.6%

C. 15.33%

D. 1.2%

E. 7.62%

Q.143 After how long does the Department of Economic Affairs present Economic

Survey of India? 

A. Every 10 years

B. Every 2 years

C. Every 5 years

D. Every year

E. Every 3 years

Q.144 Which of the following institutions are part of Maharatna PSUs?

A. Coal India Limited

B. Bharat Heavy Electricals Limited

C. Bharat Petroleum Corporation Limited

D. First two

E. First three

Q.145 Which of the following are not a part of the international forum G20?

A. Indonesia

B. European Union
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C. Mexico

D. Italy

E. Pakistan

Q.146 Uniform Civil Code in India is opposed by which of the following groups?

A. Indian National Congress

B. Bharatiya Janta Party

C. All India Muslim Personal Law Board

D. All of the above three

E. Only Indian National Congress and All India Muslim Personal Law Board

Q.147 In 2015, how much was the agricultural output in Nominal GDP of India,

according to IMF? 

A. 1088

B. 413

C. 41

D. 290

E. 106

Q.148 The income tax in India is:

A. Direct and proportional

B. Indirect and progressive

C. Direct and progressive

D. Indirect and proportional

E. None of the above

Q.149 The first attempt to start economic planning in India was made by:

A. Balwantrai Mehta

B. Vallabhai Patel

C. Manmohan Singh

D. M. Visvesvaraya

E. Jawaharlal Nehru
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Q.150 The process by which businesses or other organizations develop international

influence or start operating on an international scale is known as: 

A. Globalization

B. Multiculturalism

C. Nationalisation

D. Economic Conservatism

E. Liberalism

Q.151 The Indian movement devoted toward universalization of elementary education is

known as: 

A. Sarva Gyan Yojna

B. Gyan Dhan Yojna

C. Sarva Shiksha Abhiyan

D. Shikshan Bharatiya Yojna

E. Gyan Abhiyan

Q.152 Which is the current apex financing agency for the institutions providing

investment and production credit for promoting the various developmental activities in 

rural areas? 

A. Reserve Bank of India

B. National Bank for Agriculture and Rural Development

C. Agriculture Credit Department

D. Rural Planning and Credit Cell

E. Agricultural Bank of India

Q.153 Which institution was replaced by the formation of World Trade Organization?

A. International Monetary Fund

B. United League of Nations

C. Economic Council of Global Development

D. General Agreement on Trade Policy Regulation

E. General Agreement on Tariffs and Trade

Q.154 Who is the managing director of Patanjali Ayurveda?
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A. Acharya Balkrishna

B. Acharya Balarama

C. Ramakrishna Shridhar

D. Baba Ramdev

E. Acharya Shiv Shankara

Q.155 Which political party did rationalist Govind Pansare belong to?

A. Bharatiya Janta Party

B. Indian National Congress

C. Bahujan Samaj Party

D. Communist Party of India

E. Shiv Sena

Q.156 The Draft of Five Years Plan is approved by:

A. Ministry of Finance

B. National Productivity Council

C. Planning Commission

D. National Development Council

E. Department of Economic Affairs

Q.157 The headquarters of International Monetary Fund is in the city of:

A. New York

B. Amsterdam

C. Massachusetts

D. Geneva

E. Washington D.C

Q.158 Was it considered to be the ideology of Rashtriya Swayamsevak Sangh?

A. Hindutva

B. Manuvada

C. Sanatana Bharatwada

D. Swatantratva

E. Swarajyavada
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Q.159 In which year was the Swachh Bharat Abhiyaan launched by Prime Minister 

Modi?

A. 2013

B. 2014

C. 2015

D. 2016

E. 2017

R.160 Which initiative aims to improve farm productivity and ensure better utilization 

of the resources in the country?

A. Kisan Sahayak Yojana

B. Kisan Sinchai Yojana

C. Krishi Sinchai Yojana

D. Krishi Sahayak Yojana

E. None of the above

 


